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RIHERE = 1 86, 056, 491
e i =Y 1 3,922, 200
A T Y 1 800, 200 |#EH! 2,000 m3
W A7 vhyb PRI BEEME 5, 000m3AH ;
2 = 1 556, 800 | BRI (L) BE 1+ 2, 000 m3
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EHEER T Y 1 2,565,200 |{EHEFER (W) +5K) 2, 000 m2
B HIROEE VA - W R OWHE - ki1
EHEEETE (g% 50) 2, 000 m2
TR E O M B HIFE
FHIEIE IR T = 1 3, 870, 262
T E A S T = 1 207,190 |HEEmE 1 ST
EEBh A& T = 1 135,010 |HEB5RmAmdE 1 AT
EHEERET Y 1 3,386,662 |MEFFEEL 10 m3
G132 2,000 m2
T 500m2LL I ;
Bk E T =Y 1 141, 400 | E/KIE 10 m
BERTIVN T W 12em 2ayF74 M ;
BEET (N IRy EERS) = 1 17, 492, 800
RN ER T = 1 5,537,600 |~y R EEANES 5, 000 m3
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VEZERMYER T Y 1 11,955,200 | - IEWRAN Elis 16 A
R T = 1 53, 471, 140
PERARRE T = 1 26, 735, 570 | R 211, 000 m2
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LEFEAET 2 1 426, 300
PRARBRAR T2 2 1 426,300 | {&A - AT 1, 000 m2
TR )
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ICEE = 1 3, 765, 719
BESFALER T 2 1 1,901,705 |HEFEEEIFUNLE (HAALEE) 30 m3
HEFRBE TN AR (N J4LER) 30 m3
/GBI TS 100 m3
7K T BT AL R 30 m3
KR L = 1 1,864,014 |/KmiEHw 15, 000 m2
IR ELALER 300 m3
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EhLL R T = 1 119,200 | REEEEIE 1, 000 m2
MEMIEL ;
TA7 7 Ml T X 1 2,581,000 | T/EiEsME (i - BRIE ) 1, 000 m2
HAITyv4T/ RC-40 {1 0 150mm ;
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SN AL T =Y 187, 940
S BLERESE T = 187,940 |IGAWEE 1 =X
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HEYE T Y 78, 130
s EEE L T Y 78,130 |av))-MEE Y HEUE L 10 m3
EAEAETEY) FEMOE T ;
A Y 141, 800
A ERE E T = 141,800 |35 EE i B 1 =
[ERAE Xy = 86, 056, 491
HiE 2 = 7,414, 000
BISTIGE: = 693, 000
TERE = 125,000 | % i b i 2 1 =
e = 568, 000 | BAn#E (RTJIT) 1 =W
B (FEHL) = 6,721, 000
T = 93, 470, 491
Bl gy = 31, 602, 000
T =5l = 125, 072, 491
— R A = 20, 817, 509
TS = 145, 890, 000
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